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By GRS (LNTIHT/ AL - HIXL)
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SA-EFH - SA(SAH) - MREAY - BES Off &F OH I8N BlusZ
X < ot 1,552,450 1,551,650 800
< 42,800 42,800 0
= 1,509,650 1,508,850 800
NEHES(LeSSHEY /ALY - HEXH) 302,350 301,550 800
KNEA() B 100,796 99,99 800
d+=8 M1 100,796 99,99 800
303 &z 6,690 5,890 800
01 Z&=32 6,690 5,890 800
OXNZEMEEI =88 A& 3,000 2,200 800
— 1< 800,000& 1SS 800 1,000 2200
—2%1 500,000& x2S H 1,000 700 300
— 3% 300,000& 405 1,200 500 700
405 XtobE SHI 33,705 33,705 0
01 MR ESF=H 33,705 33,705 0

OXNEgA E2E AEJIE =2I| 7

195,000& 195 3,900 A3,705

33,705,000 14 33,705 30,000 3,705




